Spellings-Lesson 2
You will need someone in your house to read out the
sentences for you.

Red Group Dictation

She was last in the . The had a shop. There is
lots of in outer . The was full up.

The of the was too much. A small of

the was left.

Answers:

She was last in the race. The city had a fancy shop. There is lots of
ice in outer space. The cell was full up. The price of the dance was
too much. A small trace of the lace was left.

Green Group Dictation

We were putting the in the pot. An to
losing weight is to . The toy was in the of the tray.
Last we saw an eclipse. It was a

special in . We must our investigation.
The table had a edge.

Answers:

We were busy putting the earth in the pot. An answer to losing
weight is to exercise. The toy was in the centre of the tray. Last
century we saw an eclipse. It was a special occasion in February. We
must describe our investigation. The table had a straight edge.



